124

AL-KO

Pos

NSNS

[
OV o~dJOoynuw P&

%Hﬁkgﬁkg
~ OV B N N

N R RN NN
VT e AW~ O @

26

[N
|

KOBER

Benamning
Lagerbussning fram
Lagerbussning bak
Smor jnippel AMS8
Dragror @ 50
Svangningsdampare
Dampgummi
Distansbussning
Gummibalg
Lagerbult sv.damp.
Bricka @ 13
Lasmutter M12
Handbromsspak
Gasf jader

Staft

Ansatsbult
Kuggsegment
Bromshavarm 90/27
Smor jnippel AM6
Lagerbult H-spak
Lasmutter

Bricka @ 17

Kulkoppling AK 10/2 @

Skruv M12 x 75

Lasmutter M12 x 1,5

facklock
Sakerhetswire

Ring for sakerhetswire

Antal

= b= = RN N b b b b b e et fet bt bt et b e e e et bt et N

Det.
555
353,
21 7.
354,

365.
355

557.
366.
358
700.
700.
299
368.
701.
357.
357.
384,
700.
207.
700.
700.
203
701.
700.
333.
209.
204.

Reservde
Pask jutb
T 070 Ps
V-drag

nr.

9473

942
171.0001
225.sp
482

140

2472

356

L2172

140
645
338
819
692
633
608
655
203
771.0503
645
625

317

249
123
944
385,0000
547.0102

l1slista for
roms 1lé6ls

1600 kg
299 314 tandem



AL-KO

AW N =D

O~ OO0

[(SSIENCI SORN SO TN SO RN NG T N NG Y SO W G P P G SR S
SO PR WN RO OO B AW O

w

KOBLR

Benamning
Bromstrumma
Bromstrumma

98x4 M1Zx1,5
100x4 M12x1,5 opel
Bromstrumma 108x5 M12x1,5 volvo
Bromstrumma 112x5 M12x1,5 merc.
Lager LM 11949/LM 11910
Kronmutter M 18 x 1,5

Saxprint @ 4 x 30
Navkapa

Hjulskruv Ml12x1,5
Hjulskruv M12x1,5
Bromsbacksats = 2
Dragf jader
Expander

Lager LM 67048/LM 67010
Tatningsring DF 42x62x7
Havarm

Lagerbult

Spannstift 4 x 30

Dragf jader

Tryckf jader

Pendelarm vanster
Pendelarm hoger
Justermutter
Justerskruv

Bromswire, se sid 158
Lasbleck

kyddsplugg plast

Bladf jader
Overdel wireingang
Fastogla bromswire
Plastplugg wireingéng
Tryckbygel backaut.

konisk
sfarisk
backar

RING

Antal

el e T e N B e e e e e e et Tl e VA I S S Sy Sy SRy SR S

= = RN

Det

357.
357.
368.
357.
700.
700.
700.
208.
208.
208.
384.
208.
218.
700.
700.
218,
368.
702.
218.
208.
384.
384.
218.
218.

238.
700.
368.

371

371.

371
368

08-552 474 00, Fax 552 401 01
VI SKICKAR OMGAENDE

Reservdelslista fgr
Hjulbroms 2051
T 070 Ps 1600 kg tandem

LN
705
706
503
708
764
117
194
399.
164.
ol
294
200
737
818
T
7Ll
441
165
737.
880.
318
319
737.0800
73700082

Konisk

6002
0018
0020

.0007
.0400

0003
0003

261.
504
405
. 387
388
. 389
361

0002

Prislista varugrupp 4
125



